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2. ¥¥l & 37F YedF FIT 3 G T T E

3. FTE. 1-5 3R 16-20 FlacTqok 37 & | Fe&% & Io7q 1 37%
f7E1fRe 81 Jcdek &7 3% U F1T 7 &1 /

4. F¥TE. 6-8 3R 21-23 TR F97 & 1574 % & 1o77 3 37%
f7Erfie & | GraT=Iaar Iede &7 37 60 1551 & 3718 7 &1/

5. ¥ G 9-11 3K 24-26 4 TR J97 & 74 F&% & ferg
4 37 [FGTRT & | I3 7T I GrEr=aaT 70 F1oc] @ 3715 7 &1/

6. ¥ G 12-15 3K 27-30 FE3T J57 & 37K 374 Jo9% & o7
6 37 [FERT &/ 378 I3 &1 I GIFI=IaaT 100 J1eg] & 37feF
T8/

7. IR GG SR [FEIFET § 7T JIEHT IR @F g [HeRa
SToq—-HIHT HT HTT9IF &G & JIcid 137 513 |

Instructions :

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each question.

3. Question No. -5 and 16-20 are very short answer questions
carrying 1 mark each. They are required to be answered in
one sentence.

4.  Question No. 6-8 and 21-23 are short answer questions
carrying 3 marks each. Answers to them should not normally
exceed 60 words each.
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5. Question No. 9-11 and 24-26 are also short answer
questions carrying 4 marks each. Answers to them should not

normally exceed 70 words each.

6. Question No. 12-15 and 27-30 are long answer questions
carrying 6 marks each. Answers to them should not normally

exceed 100 words each.
7. Answer should be brief and to the point and the above word
limit be adhered to as far as possible.
e 3
SECTION A
1. ‘oAge goeh! fomivar ¢ : (ad faekeu giu) 1
(a) had Ui SR

(b) had qUT STCHTTEIHR
(c) (a) 3R (b) I
(d) 3T H RIS Tl

‘Homogenous products’ is a characteristic of : (choose the correct

alternative)

(a) Perfect competition only
(b) Perfect oligopoly only
(c) Both (a) and (b)

(d) None of the above
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2. UF BH & 3AE i hiAd TR AW & o9 faudia dae gar g : (Fal
faee gfie)

(a) had THIIHR §

(b) I ThITErERTIE Ficr=frar |

(c) UHITHHR TR ThIErehTiesh Sfaaifirar ar=i 4
(d) hae qut Sfaifiar 4

There is inverse relation between price and demand for the product
of a firm under : (choose the correct alternative)

(a) Monopoly only

(b) Monopolistic competition only

(c¢) Both under monopoly and monopolistic competition

(d) Perfect competition only

3. 9 30Hd Ad §¢ &'l df HHid anTd 3R 3Ed And § R gey
BT a?

What is the relation between marginal cost and average cost when

average cost is rising ?
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4. UM NC foh Tk awg i AURIE IhEAT s T FA qEAIed
(o) ferR 9 Fgd! &t 7| UE fearfa o Hmia gwntid : (T foaehea
9f0) 1
(a) T|a TraTfed ¥ Aferes gnft
(b) 3erd geEnfid & g9 et
(c) Tua TEmfed & u anft
(d) = & &

Suppose total revenue is rising at a constant rate as more and more

units of a commodity are sold, marginal revenue would be :

(choose the correct alternative)

(a) Greater than average revenue
(b) Equal to average revenue

(c) Less than average revenue

(d) Rising

5. ottt e e A a7 |

When does ‘decrease’ in supply take place ?

6. T SEge X 3 Y H hHd-u A HAM: —2 I -3 B TH A
fopEreht S -ain o 21fere & o =17 3

Price elasticity of demand of good X is —2 and of good Y is —3.

Which of the two goods is more price elastic and why ?
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7. AfeRaw shiad Hmr fuior w37 39 aium gHeEse?

AT

e S hIHd e shiad § S & a1 9 R0l B aTcl THEl hl
e FHHTST|

What is maximum price ceiling ? Explain its implications.

Or

Explain the chain effects, if the prevailing market price is below

the equilibrium price.

8. Uk UM hadl al aegell X R Y H IUANT F@T 2| YAH HI
Hwid STAITEAT 2 71 X 3R Y i 9fd 318 hivd shFen: 1%, 92 %. B
T YA T § 8 | IuTerT sht 71 wfeafspan s anft? Tmemse |

A consumer consumes only two goods X and Y. Marginal utility
of each is 2. The price per unit of X and Y is Re. 1 and Rs. 2
respectively. Is the consumer in equilibrium ? What will be the

further reaction of the consumer ? Explain.

9. 3IAe Baad I ISt ST | STeushiete 3R SEleRTell 3caTed wardl

% s e i

HAYAT
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ATTa shi RSt €| STae TR aftad! Tt o = 9 Fifse| g
o1 Teh—Teh 3aTLT 3119y | 4

Define production function. Distinguish between short run and long

run production functions.

Or

Define cost. Distinguish between fixed and variable costs. Give one

example of each.

10. S/ Tk o%g <l HHd Ufd $h1E 12 & U dehd 15 % & Sl 2 al
Icaresh 50 giowrd 31ferek st smmafd T 1 qfd dima o= F®@m Re
Iieha hifee | 4

When price of a good rises from Rs. 12 per unit to Rs. 15 per unit
the producer supplies 50 per cent more output. What is the price

elasticity of supply ? Calculate.

11. T a%g &l () A9 hiva § qiEdd aon (@) Sioeerdt a&q 6t v

H 9 ol % hl AT W T9E G915 4

Explain the effect of (a) change in own price and (b) change in

price of substitute on demand of a good.

12. SHfRMEE a3 foveryor § Iusiad Gqa 6 Id a9y 6

Explain the conditions of consumer’s equilibrium using

indifference curve analysis.
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13. T& qui gfaant aeiR | fefoifad o afons a9esy

(a) Sharedl il ISt T
(b) wHT = Yo TR fHRTeh i T

HAYAT

Teh TeTTIEehR IR | fA=feriaa o aftoms gaemse

(a) T sl TR fasfTan
(b) - gfnfirar

Explain the implications of the following in a perfectly

competitive market :
(a) Large number of buyers
(b) Freedom of entry and exit to firms

OR

Explain the implications of the following in an oligopoly

market :
(a) Inter-dependence between firms

(b) Non-price competition

14. I8 9 & T &5 oft arem A+t a¥qeti & 3cued | T 99 38 el

BT, 3H dgh 1 AT 15T 511 ASTawel i Icq1eT &dT ol @ 2|
ST AT GU, 38h! ToRISaTd STsy |

Assuming that no resource is equally efficient in production of all
goods, name the curve which shows production potential of the

economy. Explain, giving reasons, its properties.
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15. ‘ol AEn # ufEdd’ SR gl | 9iEdd o s 3T aHETst|
T o JANT i 6

Explain the distinction betwen “change in quantity supplied” and

“change in supply”. Use diagram.

A : haet e afera aferriofat o forg e dat 15 & T Wy

“omgfd wE # qfEd IR ergld W ufEadd | o s 3Tat auEsy|
TTfCTehT T SIRINT hiTSTY |

Note : For blind candidates in lieu of Q. No. 15.

Explain the distinction between “change in quantity supplied” and

“change in supply”. Use schedule.

s
SECTION B
16. TSTRIY H1CT $Heh THM BT ¢ : (We! foehed i) 1
(a) SIS PTAH
(b) =0

(c) TSI YA ©T R0

(d) >RUT =T SIS Y™

Fiscal deficit equals : (choose the correct alternative)
(a) Interest payments

(b) Borrowings

(c) Interest payments less borrowings

(d) Borrowings less interest payments
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17. 3= foesh fafma Sei @ fsft forsh fafma Seq @8 wvgam @
(&t ferehe gffa)
(a) =T -

(b) YSTd TH-
(c) @A -
(d) THTISH &g TH-aF

Foreign exchange transactions dependent on other foreign

exchange transactions are called : (choose the correct alternative)

(a) Current account transactions
(b) Capital account transactions

(c) Autonomous transactions

(d) Accommodating transaction

18. T2ieh <t gfeamT <ifsig)

Define stocks.

19. A YSiTa IiErfl o Jeagd ¥ AR 98 © @ (T2 faehed giw)
(a) had g ferams

(b) HIA T I

(c) T o TR TR STo=reH

(d) o AT ITI=AH
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20.

21.

22.

Depreciation of fixed capital assets refers to : (choose the correct

alternative)

(a) Normal wear and tear
(b) Foreseen obsolescence
(c) Normal wear and tear and foreseen obsolescence

(d) Unforeseen obsolescence

TR SISTe § ToTEd =1 9 T 319 27 1

What is revenue deficit in government budget ?

Higta Ius ygfa iR ed 39 yafd § 9e hifve| T aiferdha
3aTeLY difsru|

HAYAT

TR A1 1 S T KU 61 Ifiren augEy) 3

Distinguish between marginal propensity to consume and average

propensity to consume. Give a numerical example.

Or

Explain the role of taxation in reducing excess demand.

T AL T 100 FUS %. Il Faw § gig & R gy =
1000 FS &. 1 Fha Ts| TG SUFRT TG J1d shitog| 3
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23.

In an economy an increase in investment by Rs. 100 crore led to

‘increase’ in national income by Rs. 1000 crore. Find marginal

propensity to consume.

SIS ST W Hehel Hodl Jhg F1d hIT :

(i) TIATH

(i) =q fosht

(i) = A et ufedy
(v) ffa

(V) TH-3ITAN IHTEH TEIC

Find gross value added at market price :

(1)  Depreciation

(1)) Domestic sales

(i11)  Net change in stocks
(iv)  Exports

(v)  Single use producer goods

200
(510
10
120

(Rs. lacs)
20

200
(510
10
120

24. 9 H YA FF wE GHAEY| aE] fafma % wrer Icow getyd
TR T FE LTS 7

AT

ST 1 <@l I SIS 1Y GHEISY | %] TIm o hror Icqd Fated
T 399 qUES 7
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25.

26.

27.

Explain the ‘store of value’ function of money. How has it solved

the related problem created by barter ?

Or

Explain the ‘unit of account’ function of money. How has it solved

the related problem created by barter ?

quesT foh TTfsl STreavaehare’ fohd JehR 0T M & s § Teres
Bl 87

Explain how ‘margin requirements’ are helpful in controlling

credit creation?

M ST & S INTSIE AR R o Tl GRR @@=l hid]

2| SUPT Tohel Tie] 3cUTE N FHodT0 T B ATt J9Ta Al forgersor
s

Government incurs expenditure to popularize yoga among the
masses. Analyse its impact on gross domestic product and welfare

of the people.

(a) YTAH TdeH i@l o fohd 3ucr@r | TR ford 987 W wRa ¥ forar
T foresft ot ot foma a7 semor SifSiuy

(b) Ra ¥ faesft e &1 fafm 5t o o= gara uem ? awgee |
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28.

(@) In which sub-account and on which side of balance of
payments account will foreign investments in India be

recorded ? Give reasons.

(b) What will be the effect of foreign investments in India on

exchange rate ? Explain.

GTHR] NI T =7 THITST o 3T 3R H-TIAT shl THTEHT oh forawor
T YT ST o T8 w8 9= foram ST Eehar 2|

AT

TWHT o5Te | Tora Iftd 9 - AT = | GAES foh Tienil ssie hi
stfeeee § hiad feordr 9 8§ fore Tehr s foran 11 gendn R

What is government budget ? Explain how taxes and subsidies can

be used to influence allocation of resources.

Or

Define revenue receipts in a government budget. Explain how
government budget can be used to bring in price stability in the

economy.
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29.

58/1/3

‘TR Fmd | Haa T 3’ R Safds s o

EASIE

(FTS%.)
(i)  SfeRT 200
(i) TGl qT o 1200
(i)  Stfoafea g 50
(iv) forten 300
(v) Fm 200
(vi) f=ftom 2000
(vii) == 400
(viii) Trae sTocae # 300
(ix) faesm = frae e o 20
(x) <™ 500
(xi) TSRl SR AT et STee™ 250 4,2

Find net national product at market price and personal disposable

income :

(Rs. crores)
(1)  Personal taxes 200
(11)  Wage and salaries 1200
(i11)  Undistributed profit 50

15 [P.T.O.



(iv) Rent 300

(v)  Corporation tax 200
(vi) Private income 2000
(vii) Interest 400
(viii) Net indirect tax 300
(ix) Net factor income to abroad 20
(x)  Profit 500
(xi) Social security contributions by employers 250

30. 3IUNAT I ¥ Ed 9% UTH hifole TR 39 Uik § fow ST9 arer =
18T | TG kT T HIfSU|

Given consumption curve, derive saving curve and state the steps

taken in the process of derivation. Use diagram.

e : e giude faenfdt & fore wea wwan 30 & T W)

I %A oh SZeh GHSTST| SUHNTT Held § Fd Hedd ITH shifSu|

Note : For Blind Candidates in lieu of Q. No. 30.

Explain the components of consumption function. Derive saving

function from consumption function.
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